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Outline

@ = zo LoEk

A IRT EXT— 58 DR



B & 70 DB

iRy

#MIERY (Bool) (& True & False 1217 Z &,

data Bool = False | True

A IRT EXT— 58 DR



B & 70 DB

amiE Ay _F DREE#L

WESRTE
not i Bool — Bool
not False = True
not True = False
Remark:

o /\¥—2XF 7 (Pattern matching) ICX D EE
o EXHX A (Rewriting rules)
@ not L =1

A IRT EXT— 58 DR



B & 70 DB

sl F DRI
AEEAE - SRR

(A),(V) = Bool — Bool — Bool
False A x = False

True AN\ x = x

FalseVx = x

TrueVx = True

Remark:
@ L AFalse=_1
o False N 1. = False
@ Truenl =1
@ Haskell TIE, "A' = "&&","V" ="||"

A IRT EXT— 58 DR



B & 70 DB

amiE Ay _F DREE#L

HIBEBEDRDEE
(N) :: Bool — Bool — Bool
False A\ False = False
False A True = False
True A True = True
True A\ False = False
Remark:

o L AFalse=_1
@ Falsen L =1
@ Truen 1l =1

A IRT EXT— 58 DR



B & 70 DB

iRt EDRA¥
EEE T
(== .. Bool — Bool — Bool
x==y = (xAy)V(not xA not y)
(#) .. Bool — Bool — Bool
x#y = not(x==y)
Remark:

o Haskell Tl&, "#£" = " /="
o FMEMZTEERE L WERICIEHEBRLZ T TIEERL, fcEZ<D
BWhH 2, Bl EDOERIGZD—FIBEBER,

A IRT EXT— 58 DR



B & 70 DB

amiE Ay _F DREE#L

LEBUEE FDER | class/instance

class Eq o where
(==),(#) = « = a — Bool

x#y = ot (x == y)

instance Eq Bool where
x==y=(xAy)V(not x A not y)

A IRT EXT— 58 DR



B & 70 DB

amiE Ay _F DREE#L

ZDHDOHLEERE T DER

class Eq o = Ord a where
(<),(£),(>),(>) :: @« = a— Bool
x<y = (x<y)V(x==y)
x>y = not (x <y)

xzy = (x>y)V(x==y)

instance Ord Bool where
False < False = False
False < True = True
True < False = False
True < True = False

A IRT EXT— 58 DR



B & 70 DB

Xor

xor 2 Bool — Bool — Bool
xor pqg = (pAnotq)V(not pAq)
imply
imply 2 Bool — Bool — Bool
imply pg = not pVgqg
leap: AFZHIET S
leap o Int — Bool
leapy = y ‘'mod' 4==0A

imply (y ‘mod* 100 == 0) (y ‘mod"' 400 == 0)

A IRT EXT— 58 DR



BABE E DZ 0O DK

Outline

©Q EABEEDFO DK

EXT— 58 DR



BABE E DZ 0O DK

BRI INTOBEAREK (0, 1,2, ...) 88,
data Nat = Zero | Succ Nat
Remark:
o Nat FBIRIICERSIN TV,

o Zero, Succ [T —F BT TH B,
o il : Zero, Succ Zero, Succ (Succ Zero)

A IRT EXT— 58 DR



BABE E DZ 0O DK

BRAM - OBEMES

nE
(+) . Nat — Nat — Nat
m + Zero = m
m+ (Succ n) = Succ (m+ n)

B EIRE : Zero + Succ (Succ Zero) % fHl5Z R,

A IRT EXT— 58 DR



BABE E DZ 0O DK

BA EORERE R
e
(%) . Nat — Nat — Nat
m x Zero = ZLero
mx (Succ n) = (mxn)+m
NFE
@) 0 Nat — Nat — Nat
m T Zero = Succ Zero
m1Succn = (m]n)xm

A IRT EXT— 58 DR



BABE E DZ 0O DK

BRAM - OBEMES

hEEE
instance Eq Nat where
Zero == Zero = True
Zero == Succ n = False
Succ m == Zero = False
Succe m==Succn = m==n

instance Ord Nat where

Zero < Zero = False
Zero < Succ n = True
Succ m < Zero = False
Succ m< Succn = m<n

A IRT EXT— 58 DR



BABE E DZ 0O DK

BRAM - OBEMES

gER

BRABZRDLSICERI NI, HEEEFOEERNBHNICE
HEns,
data Nat = Zero | Succ Nat
deriving (Eq, Ord)

A IRT EXT— 58 DR



BABE E DZ 0O DK

BRAM - OBEMES

BE
(-) i Nat — Nat — Nat
m — Zero = m
(Succ m) — (Succ n) = m—n

BESERI B TH B,

Succ Zero — Succ (Succ Zero)
= { second equation for (-) }
Zero — Succ Zero
= { case exhaustion }

L

A IRT EXT— 58 DR



BABE E DZ 0O DK

BAH F DR TEE
PEZE
fact . Nat — Nat
fact Zero = Succ Zero
fact (Succ n) = Succ n X fact n

Fibonacchi 9%

fib v Nat — Nat
fib Zero = Zero
fib (Succ Zero) = Succ Zero

fib (Succ (Succ n)) = fib (Succ n)+ fib n

A IRT EXT— 58 DR



XFREZD DB

Outline

© xRz LoBEK

A IRT EXT— 58 DR



XFREZD DB

XFH8 Char |& ASCIl (American Standard Code for Information
Interchange) XFDEFXD TH 3.

=R D CUUUUUUUS LI L I W LSOV — I EUXUUSUK 7 F LD CRITL LV
L3y b
0 1 2 3 4 5 6 7
1ALy b

0 NUL DLE sP o @ P p
1 SOH DC1 ! 1 A Q a a
2 STX DC2 2 B R b r
3 ETX DC3 * 3 c s c s
a EOT DC4 $ a D 7 d X
5 ENQ NAC % 5 E u e u
6 ACK SYN & 6 F v f v
[ BEL ETB 7 G w (] w
8 BS CAN ( 8 H X h x
9 HT EM ) 9 1 ¥ i ¥
A LF/NL | suB > ] z i z
B vT ESC + K [ 3 i
C FF FS < L \ I |
D CR GS = M 1 m }
E 50 RS > N - n ~
F s1 us v 7 o = a DEL




XFREZD DB

7% R1F9 DB

o ord :: Char — Int: XFZXIHT % ASCII fF5 DERC ZHE
ord ' = 98

o chr :: Int — Char: ASCII fFB DEHKZ NG T 2 X FICEH]
chr 98 = b

o BRERT | XFDEIILLETES.

instance Eq Char where
x==y = ordx==ord y

instance Ord Char where
x<y = ord x<ordy

A IRT EXT— 58 DR



XFREZD DB

XFH FOBEMDEZ

o isDigit: XFHIHFTH B EZHITET HEE

isDigit 2 Char — Bool
isDigit x = 0/ <xAx<'9

o capitalise: \XFZ AXFICEZ 5

captalise = Char — Char
capitalise x | isLower x = chr(offset + ord x)
| otherwise = x
where offset = ord 'A' — ord 'd’

A IRT EXT— 58 DR



XFREZD DB

P {Hi]

captalise 'a
= { definition and isLower 'a’ = True }
chr(offset + ord 'a’)
= { definition of offset }
chr(ord "A" — ord '’ + ord '3’)
= { arithmetic }
chr(ord "A")
= { since chr(ord ¢) = c forall ¢ }

IA/

A IRT EXT— 58 DR



XFH & Z D DB

Outline

Q =5 ezn LnEK

A IRT EXT— 58 DR



XFH & Z D DB

X5

XFHNE String [EXFDFIDEED TH 3.

{"", "hello", "This is a string.”, ...}

type String = [Char]

7 "a"

llall

? "Hello World"

"Hello World"

? putStr "Hello World"
Hello World

A IRT EXT— 58 DR



XFH & Z D DB

X575 E DR

@ show :: a — String: EFEDRDT—F = XFHIC K

show 100 = "100"
show True = " True"
show (show 100) = "\"100\""

® ++ :: String — String — String: Z D DX F % D715 < EHE
EET

"hello” +" " +"world” = " helloworld”

o ERET  XFIOUKILERE DFENIRICHD

A IRT EXT— 58 DR



B L 20 LMK

Outline

Q =Rz LoBEK

EXT— 58 DR



B L 20 LMK

BRI 20 ORI

BB INTORBREDSBHREINTWS,
Int : single precision integer
Integer : arbitrary precision integer

BiinEEF EFRB
+ (M%) 24+3=5
— (RE&) 2-3= -1
x (RE) 2%3=6
/ (BRE) 3/2=15
C(RFEER) 23 =8
div (BEFRE) | dv32=1
3'divi2=1
mod (BBEPRAR) | mod 53 =2
5'mod' 3 =2

A IRT EXT— 58 DR



B L 20 LMK

o fE&3E
fact o Integer — Integer
fact 0 =1
fact (n+1) = (n+1)xfactn

o BHDNSZHT HBH

sign i Int — Int
signn | n>0 =1
| n== =0
| n<O0 = —1

A IRT EXT— 58 DR



FENBRBE L 2D DB

Outline

QO FEnEAEKE e 20 OB

IR | EAF S5 Lok



FENBRBE L 2D DB

FEINREEL & £ D _EDEEK

FENERBBEEITNTOFENERBEDSBRENTWDS,

Float : single precision floating-point numbers
Double : arbitrary precision floating-point numbers

HES EE
+ (hn&) | 23+33 =56
— (B&) | 25-3= 05
* (’HE) | 25%25=6.25
/ (BRE) 32/2 =16

A IRT EXT— 58 DR



FE K EZ0 DB

WA FOREMDER

Bl : BOHEXHEZ R I B abs.

abs o Numa=a—a
abs x = if x <0 then — x else x

FAPITWHIZ, ROELSICEVWTH XL,

abs x | x<0 = —x
| otherwise = x

A IRT EXT— 58 DR



FENBRBE L 2D DB

o Hugs VAT LZE>T. BEXRELOBEKZTANT %,
o ARMBDE_EZEEL. BREFOHEEEZHE L,

A IRT EXT— 58 DR
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